Quiz Rational Functions 2015 version 1.doc Name:
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2) For the functions below find the x and y intercepts and vertical and horizontal asymptotes.
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y-intercept(s): x-intercept(s): z

i
Vertical asymptote(s): X = ~ ’J /i

Horizontal asymptote: V = 2

3x—4 K”i{"

X +5x+4 (X))
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y-intercept(s): l x-intercept(s): 3

) f(x):

Vertical asymptote(s): X = — / / q

7

Horizontal asymptote: J = O
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3) Given the following information about a rational function, make a sketch of the function.

4) Given the following information about a rational function, make a sketch of the function.
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6) Fill in the following information and sketch the function.

—x3 -——2x2 --E- ‘E - [ ' ' 1 ! 1
f(x)= 2 TN TTTURTTTYITT T
x _x_2 .-:---:---l --I- 1 1 1
y-intercept(s): ¥ = 0 T
x-intercept(s): X = —2,x=0 T ‘
Vertical asymptote(s): X =~1, X =2 A 2
Asx oo, f(x)> —®© - E
Asx o, f(x)> ©
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Horizontal or slant asymptote(s): Y = —X + 5 - R S EE

3x* —8x? +x~1

7) Determine the two missing terms in the unfinished long division of f(x)=

below. / \
et ¥
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(357 +68)
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8) Find a possible equation for the rational function graphed below.
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9} Factor and determine the x-intercepts (or roots) of the following polynomial.

f(x)=10x" —4x* - 6x
0 = 2X(5x"~4x - 3)
©= 2x (Sx+3Xx=1)

(70,72 w=

10) If you graph the rational function f (x) T 3 you would expect to have a vertical

asymptote at X = 3. But there is no asymptote! Instead there’s just a tiny “hole” at x = 3. (See graph
below.) Why might that be? Explain your thoughts using complete sentences.




